Ocean waves are gigantic.
International giants like Coca Cola are everywhere.
Like = gibi

Such as = gibi

Profound effect / impact

Oceans have profound effect on climate.
Have / has = sahiptir, var

On = lizerinde

Have effect on = ...lizerindeetkisivardir
My daughter and my son have separate rooms.

Separate (v) = ayirmak

Blue and green are distinct colours.
Difference (n) = farklilk

-able = ebilmek, yapabilmek

Diverge (v) = sapmak, ayrilmak
They have similar education, but they have divergent
field of interests.

But = zithk (+ / -)

Diversity (n) = gesitlilik

Cultural diversity



Vary (v) = change
Several = birkag
There are diverse opinions among the members of the parliament.

Among = arasinda (2’den fazla)

Evidence (n) = kanit

-ly = zarf yapanek

Evidently
Clearly
Obviously
Apparently

It is clearthatthe temperatures are increasing.
............ aciktir

Ne / neyi ? = isimclimlecikleriniverir

Shining = shine
The Moon is not a luminous body, but the Sun is a luminous one.

Ay 1siksacanbircisimdegildir, amaglinesisiksacanbircisimdir.

The city life of istanbul is lively.

The colours of this painting are vibrant.



Visible X invisible
Observe (v) = gozlemlemek

Observation (n) = gozlem

Ahmet’s house

Ali’s father

House of parliament

Methods of learning a foreign language

Visible universe is limited because the universe is enormous.

Because = clinkd, icin

One of my students is a bright one.
His contributionto our project is invaluable.

Contribute to = katkidabulunmak

Diamond is a precious stone, soit is very expensive.

So = buytzden, bundandolayi

Go bankrupt = iflasetmek

Penny + less (-siz, -siz)

Hope less = umutsuz

Many companies go bankruptin economic crisis.

| cannot lend you any money. I’'m broke.



Commercial activity = ticarifaaliyet
TV commercials = TV reklami

Apply (v) = uygulamak, yapmak

There are many commercial activities in the region.

Your project is not feasible due to high costs.

Due to = -den dolayi
Cost = maliyet
Yiksekmaliyetsebebiyleseninprojenuygulanabilirdegil.

Due to climate conditions, building a hotel here is not viable.

Tourism is a lucrative industry, so many companies invest in
this sector.

Invest in = yatirrmyapmak

Innovation (n) = yenilik
Invent (v) = icatetmek

Pioneer (v) = dnciliketmek

We need innovative ideasto compete with developed nations.
To infinitive (VO) = -mek, -mak (icin)
Compete (v)= rekabetetmek

With =ile

We want to go to Didimto have our holiday.



Infinitive of purpose =to VO

He reads novelsto improve his English.

Skilled = talented = gifted

Schools always need qualified teachers to give lessons.

I’'m competent in English.

Appropriately
Properly
Suitably

This dress is appropriate for the dinner party.

You need to find a proper job to lead a better life.



PRESENT CONTINUOUS TENSE: SIMDIiKi ZAMAN (am-is-are + Ving)

(yapiyor, ediyor)

1. konusmaanindayapilaneylemler

We are studying English at the moment.

At the moment
Right now
Now

At present

For the time being

2. gegicieylemler
for the time being
currently . susiralar

nowadays

these days

| live in Ankara, but these days, I’'m staying with my uncle in Bursa.

He is working on a project for the government nowadays.

3. yakingelecekanlatir

She is flying to Rome tomorrow.



TENSE SORULARINI COZERKEN

1. ZAMAN iFADELERI

2. WHEN, WHILE, AFTER, BEFORE....

3. HICBIR ZAMAN iFADES| YOKSA................

O.A.B.A. = OKUZUN ALTINDA BUZAGI ARAMAYIN

STUDENTS

PLAYS
REFERANS KELIMELERI ONEMLIDIR !!

Ali and Veli are close friends. They both graduated from the same

high school. ----.He studies law at Ankara University.
Both = ikiside

Either = herhangibirisi

Neither = higbirisi (ikisidedegil)

Also = ayrica, dahasi, de / da

----, healso discovered that the earth is not flat.

a) Galileofound out that the Sun is not the centre of the universe

a / an = indefinite article

the = definite article



| have a car. The car’s colour (colour of the car) is grey.

--a-- university (sessizharfekarsilikgelenses)

--an-- hour (sesliharfekarsilikgelenses)

My sister discovered a new plant type last year.

My sister found a new plant species last year.

----,the method is not feasible.

FiiL 1 + FIIiL 2 (Ving(GERUND) / to VO (INFINITIVE))

CUMLELERI OKURKEN DIiKKAT EDILECEKLER !!

1. PREPOSITION

2. GERUND / INFINITIVE

OLD ER = DAHA YASLI
MORE BEAUTIFUL = DAHA GUZEL



